CHEM 210 « Solutions & Concentration 1 Name: _ KEY

1. What is the concentration (in mol/L) of a solution prepared by dissolving 2.57 grams of Na,S in
enough water to make 100.0 mL of solution? _
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2. How many grams of ammonium chloride (NH4Cl) are dissolved in 25.00 L of a solution that is
2.00 M NH,C1?
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3. Describe the preparation of one liter of a 0.500 M NaCl solution from solid sodium chloride and
the other materials and glassware needed.
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4. What is the percent by mass of aluminum chloride (AICl3) prepared by dissolving 26.8 g in
355.0 mL of water? (Assume the density of water is 1.00 g/mL.)
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5. What is the concentration of a solution prepared by diluting 2.50 mL of 1.67 M Na,SOj4 to a total
volume of 50.0 mL?
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6. What is the ppm concentration of lead in a solution found to contain 1.13 mg Pb>* in 5.00 L?
Assume the density of the solution is 1.00 g/mL. = St Oa.Oa
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7. An aqueous solution is found to be 0.0050 % Ag" ions. Calculate the ppm concentration of the
solution.
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8. What is the concentration in mol/L of iron (III) ions and sulfate ions in a solution that is 0.250 M in
Fex(S04)?
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9. What is the concentration in mol/L of a solution with 8.52 g MgCI; dissolved m 150.0 mL of
solution? S LR / .
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What is the concentration of Mg®* ions? CI” ions?
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